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QUESTION 1

Given the following table definition in a multi-partitioned database: 

Which column(s) will be chosen by DB2 as a distribution key (partitioning key)? 

A. SS_ID 

B. EMP_ID 

C. NAME 

D. SS_ID, EMP_ID, and NAME 

Correct Answer: A 

 

QUESTION 2

If instance DB2INST1 is created and its authentication type is set to KRB_SERVER_ENCRYPT, which statement is
true? 

A. Databases created in DB2INST1 will use SERVER_ENCRYPT authentication if KERBEROS authentication is not
available. 

B. Databases created in DB2INST1 will use KERBEROS authentication if SERVER_ENCRYPT authentication is not
available. 

C. Client connections to databases on DB2INST1 will fail unless they are attempted through an LDAP connection. 

D. Client connections from Windows machines to databases on DB2INST1 will flow clear text passwords. 

Correct Answer: A 

 

 

QUESTION 3

A table named TAB_A was created with the COMPRESS YES option specified and populated with 100,000 rows. If a
DBA wants to create an index on table TAB_A, which statement is true? 

A. In order for the index to be compressed, it must be enabled for compression by specifying the COMPRESS YES
option with the CREATE INDEX statement that is used to create it. 
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B. The index will automatically be compressed since the table it is associated with is compressed; the ALTER INDEX
command does not have to be executed. 

C. In order for the index to be compressed, it must be enabled for compression by specifying the COMPRESS YES
option in the CREATE INDEX statement used to create it; however, the index will not be compressed until the ALTER
INDEX command is used to create an index compression dictionary. 

D. The index will automatically be enabled for compression because the associated table is compressed; however, the
index will not be compressed until it is REORGed. 

Correct Answer: B 

 

 

QUESTION 4

Which description is correct when discussing the DB2_MEM_TUNING_RANGE registry variable? 

A. It is recommended to set this variable only when the Self-Tuning Memory Manager (STMM) is disabled. 

B. It is recommended to set this variable only when using STMM, when DATABASE_MEMORY is set to AUTOMATIC,
and if insufficient system memory problems are occurring. 

C. It is recommended that this variable be enabled at all times in order to prevent DB2 from taking too much physical
memory. 

D. It is recommended that this variable be used to set the maximum percentage of memory that DB2 can use on the
system. 

Correct Answer: B 

 

 

QUESTION 5

Which tool or command will display only the automatic storage paths in an existing backup image? 

A. db2dart 

B. db2ckbkp 

C. INSPECT 

D. db2pd 

Correct Answer: B 
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